50. The Asymptotics of the Potential Functions of One-Sided Stable Processes

By Kimio KAZI

Section of General Education, Keio University

(Communicated by Kôsaku Yosida, M. J. A., May 12, 1980)

1. Introduction. Let x(t) be a temporally homogeneous independent increments process with only negative jumps, whose cumulant is

$$K(s) = \frac{1}{t} \log Ee^{sx(t)} = as + \frac{b}{2}s^2 + \int_{-\infty}^{0} \left(e^{sx} - 1 - \frac{sx}{1 + x^2}\right) \Pi(dx),$$

where $s \ge 0$, $b \ge 0$ and the Lévy measure Π is a measure which makes the above integral converge. We define $\zeta = \inf \{t; x(t) \le 0\}$ and $x^{\circ}(t)$, $t \in [0, \zeta)$, is the process obtained by killing x(t) at the moment ζ . It is well known that $x^{\circ}(t)$ is a Markov process and the resolvent $\mathbf{R}^{\circ}_{\lambda}$ of the process $x^{\circ}(t)$ is given by

$$\boldsymbol{R}_{\lambda}^{0}f(\boldsymbol{x}) = \boldsymbol{E}_{\boldsymbol{x}} \int_{0}^{\zeta} e^{-\lambda t} f(\boldsymbol{x}(t)) dt$$

for $\lambda > 0$ and bounded measurable function f(x). Here E_x and P_x are respectively conditional expectation and conditional probability under the condition x(0) = x.

In [3] it was proved for $\lambda > 0$, x > 0

$$\boldsymbol{R}_{\lambda}^{0}f(x) = \boldsymbol{R}_{\lambda}(x) \int_{0}^{\infty} e^{-\rho(\lambda)y} f(y) dy - \int_{0}^{x} \boldsymbol{R}_{\lambda}(x-y) f(y) dy,$$

where $\rho(\lambda)$ is a solution of $K(s) = \lambda$, and the Laplace transform of $R_{\lambda}(x)$ is

$$\int_{0}^{\infty} e^{-sx} R_{\lambda}(x) dx = \frac{1}{K(s) - \lambda} \quad \text{for } s > \rho(\lambda).$$

We call $R_{\lambda}(x)$ resolvent function and it was shown there exists $R(x) = \lim_{\lambda \to 0} R_{\lambda}(x)$, which we call potential function. If we put $\rho = \lim_{\lambda \to 0} \rho(\lambda)$, it is obvious

$$\int_0^\infty e^{-sx}R(x)dx = \frac{1}{K(s)} \quad \text{for } s > \rho.$$

As application of this result [2], we obtain the formulas

$$\begin{split} E_x(\zeta) &= \frac{R(x)}{\rho} - \int_0^x R(y) dy, \\ P_x(x(\zeta) < z, \zeta < \infty) \\ &= R(x) \int_0^\infty e^{-\rho y} \Pi(-\infty, z-y) dy - \int_0^x R(x-y) \Pi(-\infty, z-y) dy, \\ \text{where } \Pi(-\infty, z-y) = \int_{-\infty}^{z-y} \Pi(du). \end{split}$$